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B.A./B.Sc. (Part I) Examination

MATHEMATICS
(Calculus and Differential Equations)
Paper : MT-02

Time : 1% Hours | [ Maximum Marks : 47

Note .— The question paper is divided into two Sections
A and B. Section—A contains 8 Very Short Answer
Type Questions. Examinees have to attempt any
four questions. Each question is of 1% marks
and maximum word limit may be 30 words.

Section-B contains 8 Short Answer Type Questions.
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Examinees will have to answer any four questions.
Each question is of 10 marks. Examinees have to
delimit each answer in maximum 200 words. Use
of non-programmable scientific calculator 1is
allowed in this paper.
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Section—-A (vi) Define Envelope.

(GUs—3) T R i
Very Short Answer Type Questions N
(vii) State Pappus theorem.
(fa oy 3w Uv)
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1. (1) Write comparison test for convergence of
series. (viii) Find the value of E
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(ii)) Write Leibnitz’s test for alternating series. 2

THR 901 & foau etiest 1 adeo fafe | Section-B
(iii) Define radius of curvature. (@ug—9)

aohal e =l g whifsg | Short Answer Type Questions
(iv) Define maximum value of Function. (g ST qTH)

P F S WY A AR FHS 2. State and prove Maclaurin’s theorem.

(v) Write necessary condition for a point P(x, y)
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to be double point for curve f(x, y) = 0.
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3. Find pedal equation of parabola y* = 4a(x + a).
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. Find radius of curvature, centre of curvature and
circle of curvature for curve y = 53 + 222 + x + 1

at point (0, 1).
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CIf u=(x? +y? +z2)5, then show that :
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. Find the asymptotes of the following curve :

B+ 2% -2 - 293 + xy -y =
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B+ 2%~ - 293+ xy -y =

. Find total area of curve :

a2y2 = x3Q2a — x)
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. Find the Certesian equation of the curve whose

equation is s = ¢ tan y while at v = 0 given x = (

and y = c.
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. Find the value of double integral by changing it

into polar co-ordinates :
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